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Löse jede Aufgabe.

1) Anna had 981 pennies. If she put them into stacks with 3 in each stack, how many stacks
could she make?

2) A mailman has to give out 574 pieces of junk mail. If he goes to 7 blocks how many
pieces of junk mail should he give each block?

3) There are 188 people attending a luncheon. If a table can hold 4 people, how many tables
do they need?

4) The roller coaster at the state fair costs 3 tickets per ride. If you had 990 tickets, how many
times could you ride it?

5) At the carnival, 6 friends bought 564 tickets total. If they each bought the same amount,
how many tickets did each person buy?

6) An ice machine had 860 ice cubes in it. If you were filling up 4 ice chests and each chest
got the same number of cubes, how many ice cubes would each chest get?

7) Max had 580 pieces of candy. If he split the candy into 2 bags with the same amount of
candy in each bag, how many pieces would each bag have in it?

8) Tobias's dad bought 426 centimeters of string. If he cut the string into 6 equal pieces, what
would be the length of each piece?

9) There are 208 seats in a movie theater. If the movie theater has 8 sections with the same
number of seats in each section, how many seats are in each section?

10) The ring toss game at the carnival made 322 dollars in 7 days. If they made the same
amount of money each day, how much did they make per day?
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1) Anna had 981 pennies. If she put them into stacks with 3 in each stack, how many stacks
could she make?

2) A mailman has to give out 574 pieces of junk mail. If he goes to 7 blocks how many
pieces of junk mail should he give each block?

3) There are 188 people attending a luncheon. If a table can hold 4 people, how many tables
do they need?

4) The roller coaster at the state fair costs 3 tickets per ride. If you had 990 tickets, how many
times could you ride it?

5) At the carnival, 6 friends bought 564 tickets total. If they each bought the same amount,
how many tickets did each person buy?

6) An ice machine had 860 ice cubes in it. If you were filling up 4 ice chests and each chest
got the same number of cubes, how many ice cubes would each chest get?

7) Max had 580 pieces of candy. If he split the candy into 2 bags with the same amount of
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8) Tobias's dad bought 426 centimeters of string. If he cut the string into 6 equal pieces, what
would be the length of each piece?

9) There are 208 seats in a movie theater. If the movie theater has 8 sections with the same
number of seats in each section, how many seats are in each section?

10) The ring toss game at the carnival made 322 dollars in 7 days. If they made the same
amount of money each day, how much did they make per day?
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